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Maumum Marks: 20

NOTE:Four possible answets R, B, € anﬂ B ﬁ aatfh duas!mn arg given The choice which you think s

correcl, fill thal circle in front: of tha questmn with Marker or Pen ink, Cutting or filiing iwo or

i momcim!as will resull in zero mark in that question.
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A tree of 8 meters high has shadow Bm |n fength, then ungle of elevation of ma at !he mon.
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7. One mdian is equal to:
{A) 45"
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(B) 30°
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9. The inequality w>2n-1is valid ifn is,
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(CYyn =4

1. "C,+"C.y =1 {usual notation) :
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13. An infipite geometm' mies
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15, Cube njtjts of unity sre;
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17. The value o | ” 3 15
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(u) Factorizer 9a° + 16b?, T ey :

'{'»}:\, ik Pt )

(iiiy Showthat YZeC,Z? +-Z isa rea! numbcr.
(i\) Write the power set. of {a {b c}}

:::2 + 4x-— 1085 0

’{\'l) Ii‘lhc numhcrs :( 21{_‘4_1 and:d '
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(vii) Express in factorial form ~ 3'—, ;

’ e 12 1l
{viil) Find the value of n, When Lw i % (C is used for combmaaon)

{ixY A the sample spave = 1123 } Fvan!*s A= 1?46 8} and R H '* 5} ’F'mﬁ !Hﬁ;l Ry =
(%) Calculdte by means: orbmonxia’lmmn(ﬂi’?)’ ] g%‘ {LH 1

(xi) Deﬁneamathemmnca] imducum_a ad

Q4.

-Uﬁ
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(i) Wha! isi thc c:rcu!ar mensure of angle between the hands of watch' at 4'0 eloek?

{it)  Find x if tan*45% — cos?60° = x . sin 45°, cos 45°, tan 60°.
(11i) Prove thatsec? 6 — cosect B =1tan? 6 —cot? §.

(i¥) If BABC, o+ + y =180 then proveé that cos (o +B) + cos 1 = 0.
(v) Provc:that.mn_;(%"e) = lan (gf*"‘ 9)?-1)

. osin28 RS A e e s
{vi) Showxhalm-é==lﬂn9, o .

(Vﬁ} Fix ﬂ‘c-wﬁbd'ofiin:i%,g

~x-1 ‘
{@) Resolve. [1__52

{8) “Fhersem Ghtwos ool AP 90 st e amduct Is 440, Find the numbers, © e
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(b} Find the term independant of x in (.x -%)m
(6. {2) Show that sin% - cosd = (sin% - c0s?8) (1 —'sin% coste)
(b} Prove that cos20° cos4D® cos60® cpéBU" = %_j(wiﬁbi;lfuéing calnulaior).
8. (a) Prove thal in triangle ABC, b (sinc + $inB + siny) = 4AS
(b) Prove that sin-1 -jlg- +col"3= I“.
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